Francgois Meria
Effectuer les transformations nécessaires puis calculer les nombres suivants.

(F3) = (H8) = i s (D= (1D = ;

(D)= (1D) = e s (F19) = (=15) = oo ;

(F4) —(H6) = o 3 (F21) = (=15) =i ;

(F18) = (=3) = e s (C) = (F18) = ;

(F19) —(+5) = i s (F1) — () = ;

(FI18) = (+17) = te 3 (F6)—(F19) = ;

(F17)=(=16) = oot ; (FD) = (=8) = ;

(F20) = (=2) = i ; (CLI6) = (F11) = o ;

(FID) = (8) =t 3 (F20) = (1) = ;

(10) = (=17) = o s (F2) = (F1D) = oo ;

(=8) = (D) = oot e e e e (=) — (20) = i e e



